1 2 3 4 6
EXCEN__VCO_TestRig2.SchDoc
TPL TP2 P3 )
vee 1 OK VCO_TestRig3.SchDoc
I I GND— 2 VCC oK
GNDGND PN1 connector EXCSW VCO_TestRig3.SchDoc
sw 2 4
1086044 0
P2 P1
MONLP 1 [ o] 2 MONLN MONLPE 1[ 2 ]2 MONLNE M1 VCO_TestRig4.SchDoc T1 VCO_TestRig4.SchD MON __ VCO_TestRig4.SchDoc
MON2P 3 | o o] 4 MON2ZN MON2PE 3 |9 ol 4 MON2ZNE MONL P 5
MON3P_5 [ o o MON3 N MON3PE 5| o o MON3 N E MONL N b1
TMONIP 7 | o o TMONL N TMONIPE 7 | g o TMONL N E -
TMON2 P e e | 10TMON2N TMON2 P E e o OTMON2NE M2 VCO_TestRig4.SchDoc T2 VCO_TestRig4.SchDoc ADJ VCO_TestRig4.SchDoc
TMON3 P e el 2TMON3 N TMON3 P E e ol 2TMON3NE
o . ol oG oK . ol 5 o
EXCEN s o J“ND EXCEN_E s o —1enD =
SW . o ISNG SWE . o (=G M3 VCO_TestRig4.SchDoc T3 VCO_TestRig4.SchD
SMON 9 | g @l 20SMONG L SMON E 9 | g @] 20SMONGE !
RADIP 21 [ g o 22RADIN_ RADIPE 721 | g ol Z2RADINE
= =
Ele o Lo
185266524 RH8b2Ce52 Low Noise VCO Signals ( EtherCAT signals end in _E, example MON1_P_E[1]
H1 Handle, 3" E1 BNC lock washer ‘517 BNC nut ‘PNZ Front Panel MON1_P[1]: Measures the RF power of the reference frequency (mixer LO input)
B Fande 3" EZ BNC lockwasher £ BNC nut Lico MON2_P[2]: Measures the RF power of the output (after output ampl |f|<_er)
D1100571-vi MON3_P[3]: Measures the RF power of the divider frequency (mixer RF input)
Mouser E3 BNC lock washer E19 BNC nut PN3 Rear Panel
534-9109
H3 Ferrule ‘E‘, BNC Tock washer ‘EZO BNC nut ‘ueo TMON1_P[4]: Measures the temperature RF detector M1
[ D1100572-v1 TMON2_P[5]: Measures the temperature RF detector M2
b Eermlg ESEENGIIockwasherigu 21 BNCinut TMON3_P[6]: Measures the temperature RF detector M3
H5 Ferrule E6 BNC lock washer E22 BNC nut PN4 DB25cable
[ [ OK[7]: Status bit (TTL) indicating that the input voltage is within range, low
H6 Ferrule E7 BNC lock washer E23 BNC nut Newark _
[ [ 05M6817 indicates fault
Mouser E8_BNC lock washer ‘524 BNC nut ‘PNS 1DC header SW[9]: Readback of the excitation enable (TTL, low is on)
534-9121 - A
ML #6-323/8"flat  E9 BNClockwasher  E25 BNCnut  PN6 1DC header SMON[10]: VCO tune voltage monitor
[ [ ] RADJ[11]: Manual frequency tuning input
M2 #6-323/8"flat  ELOBNC lock washer  E26 BNC nut '7\‘36'\2/;2;7 EXCEN[8]: Enables the excitation input by pulling low (TTL)
M3 #6-32 3/8" flat ‘Ell BNC lock washer ‘E27 BNC nut ‘PN7 Jack screw
M4 #6-32 3/8" fl_‘at E12BNC lock washer E28 BNC nut PN8 Jack screw
[ [ [ [ ]
McMaster-Carr E13BNC lock washer E29 BNC nut Newark
91099A215 80K5431 OK E _ VCO_TestRig5.SchDoc
E14BNC lock washer E30 BNC nut @
PN10 Banana jack
E15BNC lock washer E31 BNC nut [
H7 Standoff M-F [ Newark
E16BNC lock washer E32 BNC nut 39F1575 EXCEN_EVCO_TestRig3.SchDoc
H8 _ Standoff M-F | C EXCEN E 2 4
Newark Newark PN9 Banana jack
H9  Standoff MF 78M7215 78M7214 lil i
Newark
HI0 _ Standoff M-F 39F1574 EXCSW_EVCO_TestRig5.SchDoc
EXCSWE 4
H11  Standoff M-F
HI2 _ Standoff M-F B
HI3 _ Standoff M-F H19 Standoff F-F M5 M4-8mm, flat M1l M4-8mm, flat
[ [ [
H14  Standoff M-F H120 Standoff F-F M6 M4-8mm, flat M12  M4-8mm, flat TLE VCO_TestRig4.SchDoc MON_E VCO_TestRig4.SchDoc
[ [ MON1 P E
H15  Standoff M-F H21 Standoff F-F M7 M4-8mm, flat M13  M4-8mm, flat MON1 N E
\ \ : :
H16  Standoff M-F H22 Standoff F-F M8 M4-8mm, flat M14  M4-8mm, flat T2 E VCO_TestRig4.SchDoc ADJ E  VCO_TestRig4.SchDoc
[ [ MON2 P E o
HI7 _ Standoff M-F H23 Standoff F-F M9 M4-8mm, flat ~ MI15 _M4-8mm, flat MON2 N E
[ [ . — ] Title N N
HI8 _ Standoff M-F  H24 Standoff F-F ~ M10__Md4-8mm, flat ~ M16 __Md4-8mm, flat T3 E _ VCO_TestRigd.SchDoc EtherCAT Low Noise VCO Test R|g
[ [ MON3 P E
Newark Newark McMaster-Carr MON3 N E Size Number Revision
563066 56K3039 91420A218 3 D1100545
Date: 4[7/2011 | Sheet 1of
File: C:\Users\..\VCO_TestRig1.SchDoc | Drawn By: F. Clara

\ 6




2 3 4
EXCEN_TP
@] ro—o NP
EXCEN_S
Title . .
EtherCAT Low Noise VCO Test Rig

Size Number Revision
A D1100545
Date: 4/7/2011 [ Sheet 20f 5
File: C:\Users\..\\VCO_TestRig2.SchDoc | Drawn By: F.Clara

2 3 ‘ 4




vee
PN
L 1
LED lens cap A A
DS
DQ
R |'j> FDV301N
G r
R1 = s
100K
GND GND

Title
EtherCAT Low Noise VCO Test Rig
Size Number Revision
A D1100545
Date: 4/7/2011 [ Sheet 30f 5
File: C:\Users\..\\VCO_TestRig3.SchDoc | Drawn By: F.Clara

2 3 ‘ 4




2 3 4
[ DP ]
BNC
Title . .
EtherCAT Low Noise VCO Test Rig

Size Number Revision
A D1100545
Date: 4/7/2011 [ Sheet 4of 5
File: C:\Users\..\VCO_TestR"ig4.SchDoc | Drawn By: F.Clara

2 3 4




3 4
TP
/
5] Sgwn o GND
S
R1
10K
VCC
Title . .
EtherCAT Low Noise VCO Test Rig
Size Number Revision
A D1100545
Date: 4/7/2011 [ Sheet 50f 5
File: C:\Users\..\\VCO_TestRig5.SchDoc | Drawn By: F.Clara
1 2 3 ‘ 4




